new Calc(7,3).divint()ZE1THI
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| d%m pubhc atic void main(String| | args){
» 1, % _\ int x=Integer.parselnt(args[0]);

\\ int y=Integer.parselnt(args[1]);
———int r=new Calc(x, y).divInt();

System.out.println(r);
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new Calc(7,3).divInt()

JavaX 2y

main

| locals | =4
0,1,2,3

| stack | =4

0,1,2,3

\

\

.method public static main([Ljava/lang/String;)V
Jimit stack 4
Jimit locals 4
aload 0
iconst_0
aaload
invokestatic java/lang/Integer/parselnt(Ljava/lang/String;)I
istore 1
aload 0
iconst 1
aaload
invokestatic java/lang/Integer/parselnt(Ljava/lang/String;)I
istore 2
new Calc
dup
iload 1
iload 2
invokespecial Calc/<init>(1I)V
invokevirtual Calc/divint()I
istore 3
getstatic java/lang/System/out Ljava/io/PrintStream,;
iload 3
invokevirtual java/io/PrintStream/println(I)V
return
.end method




new Calc(7,3).divint()

new Calc
N dup
JaVaX/)-l‘Ja iload_l
- 0 g iload 2
main <init> invokespecial Calc/<init>(II)V
| locals | =4 | locals | =3 invokevirtual Calc/divint()I
0,1,2,3 0, 1,2 istore 3
| stack | =4 | stack | =2 .method <init>(I)V
Q,1,2,3 0, 1 limit stack 2
A\ Jimit locals 3
\ aload 0
— invokespecial java/lang/Object/<init>()V
173 aload 0
@ iload 1
@ putfield Calc/x I
aload 0
iload 2
E—T (A RBREEG)| putfield Calely |
return
.end method 7
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new Calc(7,3).divInt()

JavaX 2y

main
| locals | =4
0,1,2,3 new Calc
du
| stack | =4 ilo]; d1
Q\’ 12,3 iload 2
\\ invokespecial Calc/<init>(II)V
invokevirtual Calc/divIint()I
i73 1store 3 7
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new Calc(7,3).divint()

JavaX 2y

main divint
| locals | =4 | locals | =1
0,1,2,3 0
| stack | =4 /\/stack | =4
0,1,2,3 0,1,2,3
173

.method divInt()I
Jimit stack 4
Jimit locals 1
aload 0
getfield Calc/x 1
aload 0
getfield Calc/y 1
if icmpge Labell
iconst 0
ireturn

Labell:
new Calc
dup
aload 0
getfield Calc/x 1
aload 0
getfield Calc/y 1
isub
aload 0
getfield Calc/y 1

invokespecial Calc/<init>(II)V
invokevirtual Calc/divInt()I

iconst 1

iadd

ireturn
.end method

new Calc

dup

iload 1

iload 2

invokespecial Calc/<init>(I)V
invokevirtual Calc/divIint()I

istore 3 [~




new Calc(7-3,3).divInt()

JavaX 2y

main divint
| locals | =4 | locals | =1
0,1,2,3 0
| stack | =4 /\/stack | =4
0,1,2,3 0,1,2,3
\
\
173 143

.method divInt()I
Jimit stack 4
Jimit locals 1
aload 0
getfield Calce/x 1
aload 0
getfield Calc/y 1
if icmpge Labell
iconst 0
ireturn

Labell:
new Calc
dup
aload 0
getfield Calc/x 1
aload 0
getfield Calc/y 1
isub
aload 0
getfield Calc/y 1
invokespecial Calc/<init>(I)V
invokevirtual Calc/divInt()I
iconst 1
iadd
ireturn

.end method




new Calc(7-3,3).divInt()

JavaX 2y

main divint <init>
| locals | =4 | locals | =1 | locals | =3
0,1,2,3 0 0, 1, 2
| stack | =4 /\/stack | =4 | stack | =2
0,1,2,3 0,1,2,3 0, 1
\
\
173 143

.method divInt()I
Jimit stack 4
Jimit locals 1

aload 0| 1ethod <init>(I)V
getfield | jiit stack 2
aload 01 jimit Jocals 3
getﬁeld aload 0
if_iempy  jpyokespecial java/lang/Object/<init>()V
¥const_0 aload 0
Irefum | jjoad |
Labell: putfield Calc/x 1
new Cal 41024 0
dup iload_2
aload_0 putfield Calc/y I
getfield return
aload 0| o4 method 7
getfield Carcry T
isub
aload 0
getfield Calc/y 1

invokespecial Calc/<init>(I1)V
invokevirtual Calc/divIint()I
iconst 1
iadd
ireturn

.end method




new Calc(7-3,3).divInt()

.method divInt()I

JavaX3vY limit stack 4

Jimit locals 1
aload 0

main divint getfield Cale/x I
aload 0

| locals | =4 | locals | =1 getfield Calc/y I

0,1.2.3 0 if icmpge Labell
—— iconst_0

| stack | =4 || || fstack | =4  iretum
0,1,2,3 0,1,2,3 abell:
\

new Calc
\ dup

aload 0

getfield Calc/x 1
. . aload 0
173 143 getfield Calc/y I

isub
@ @ aload 0
@ @ getfield Calc/y I
invokespecial Calc/<init>(II)V

invokevirtual Calc/divInt()I
iconst 1

E—T AV RBVREEE) || wi

ireturn

.end method




new Calc(7-3,3).divint()

JavaX 2y

main divint divint
| locals | =4 | locals | =1 | locals | =1
0,1,2,3 0 0
| stack | =4 /\/stack | =4 /\/stack | =4
0,1,2,3 0,1,2,3 0,1,2,3
173 143

E—T (A RZVREES)

.method divInt()I
Jimit stack 4
Jimit locals 1
aload 0
getfield Calce/x 1
aload 0
getfield Calc/y 1
if icmpge Labell
iconst 0
ireturn

Labell:
new Calc
dup
aload 0
getfield Calc/x 1
aload 0
getfield Calc/y |
isub
aload 0
getfield Calc/y 1
invokespecial Calc/<init>(II)V
invokevirtual Calc/divint()I
iconst 1
iadd
ireturn

.end method




new Calc(7-3-3,3).divInt()

JavaRX 32y
main divint divint
| locals | =4 | locals | =1 | locals | =1
0,1,2,3 0 0
| stack | =4 /\/stack | =4 /\/stack | =4
0,1,2,3 0,1,2,3 Q,1,2,3
N
\
173 143 143
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new Calc(7-3-3,3).divInt()

JavaRX 32y
main divint divint <init>
| locals | =4 | locals | =1 | locals | =1 | locals | =3
09 19293 0 0 /O, 1, 2
| stack | =4 /\/stack | =4 /\/stack | =4 | stack | =2
0,1,2,3 0,1,2,3 Q,1,2,3 0, 1
N7
\\0//
173 143 143
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new Calc(7-3-3,3).divInt()

JavaRX 32y
main divint divint
| locals | =4 | locals | =1 | locals | =1
0,1,2,3 0 0
| stack | =4 /\/stack | =4 /\/stack | =4
0,1,2,3 0,1,2,3 Q,1,2,3
A
5
173 143 143
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new Calc(7-3-3,3).divint()

JavaRX 32y
main divint divint divint
| locals | =4 | locals | =1 | locals | =1 | locals | =1
0,1,2,3 0 0 0
| stack | =4 /\/stack | =4 /\/stack | =4 /\/stack | =4
0,1,2,3 0,1,2,3 0,1,2,3 0,1,2,3
/ int divInt(){
i73 i43 - iHx=<y){
143 ? return O;
telse

E—T (A RZVREES)

b
;

return new Calc(x-y, y).divint()+1;

=
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return O

JavaX 2y

0

main divint divint
| locals | =4 | locals | =1 | locals | =1
0,1,2,3 0 0
| stack | =4 /\/stack | =4 /\/stack | =4
0,1,2,3 0,1,2,3 0,1,2,3

i73 i43 1
&= )| G=4D <=
Q=30 NG =3

E—T (A RZVREES)

.method divInt()I
Jimit stack 4
Jimit locals 1
aload 0
getfield Calce/x 1
aload 0
getfield Calc/y 1
if icmpge Labell
iconst 0
ireturn

Labell:
new Calc
dup
aload 0
getfield Calc/x 1
aload 0
getfield Calc/y 1
isub
aload 0
getfield Calc/y 1
invokespecial Calc/<init>(I)V
invokevirtual Calc/divInt()I
iconst 1
iadd
ireturn

.end method
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return new Calc(7-3-3,3).divInt()

0+1

JavaX 2y %\

main divint
| locals | =4 | locals | =1
0,1,2,3 0
| stack | =4 /\/stack | =4
0,1,2,3 0,1,2,3
173 143

143

E—T (A RZVREES)

.method divInt()I
Jimit stack 4
Jimit locals 1
aload 0
getfield Calce/x 1
aload 0
getfield Calc/y 1
if icmpge Labell
iconst 0
ireturn

Labell:
new Calc
dup
aload 0
getfield Calc/x 1
aload 0
getfield Calc/y 1
isub
aload 0
getfield Calc/y 1
invokespecial Calc/<init>(II)V
invokevirtual Calc/divInt()I
iconst_1
iadd
ireturn

.end method
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return new Calc(7-3,3).d1vInt()

0+1+1

JavaX 2y

main

| locals | =4
0,1,2,3

| stack | =4

0, 1,2, 3<ﬂ4

i73 i43 1
&= )G ) [ G
Q=3 G \G=o

E—T (A RZVREES)

.method divInt()I
Jimit stack 4
Jimit locals 1
aload 0
getfield Calce/x 1
aload 0
getfield Calc/y 1
if icmpge Labell
iconst 0
ireturn

Labell:
new Calc
dup
aload 0
getfield Calc/x 1
aload 0
getfield Calc/y 1
isub
aload 0
getfield Calc/y 1
invokespecial Calc/<init>(II)V
invokevirtual Calc/divInt()I
iconst_1
iadd
ireturn

.end method
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